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Paper: A: Economics of Development
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Note :- Attempt five questions in all. Q. No. 1 is compulsory. Select

one question each from Units I, II, III and IV.
.

.

1. Attempt any nine of the following:

(a) Two important features of under developed country

(b) Balanced Growth Strategy

(c) Democratic Planning

(d) Disguised Unemployment
™

(e) Export Promotion

(f) Stationary State

(g) Forward and Backward Linkage

(h) Stimulants and Shocks
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(i) Two features of Big Push Theory'

(j) Social Overhead Capital

(k) Import Substitution

(1) Define price mechanism. 9 * 2=18

U1SIT-I

2. Capital formation is the key to Economic Development. How far

this is applicable to developing countries ? 18

3. What is the difference between Economic Growth and Economic

development ? Explain how the process of Economic Development

can be accelerated in less developed countries ? 18

UMT-II

4. Differentiate between Technological and Social Dualism. Critically

evaluate the theory of technological dualism. 18

5. Critically examine the Classical Theory of Economic Growth.

18

.
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UNIT-HI
,

6. Explain Rostow's stages of Economic Growth. 18

7. Critically examine 'critical minimum effort thesis' of Economic

Development. 1 8

UNTT-IV

8 . Distinguish between labour intensive and capital intensive techniques.

Which technique is more suitable for developing country like India ?

Give your arguments. 1 8

9. Critically examine the different types of investment criteria. 18

Note :- Attempt five questions in all. Q. No. 1 is compulsroy. Select

one question each from Units I, II, III and IV.

1.

V /

(IT)
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'

Ri^l-d

9x2=18

2.
t ? 18

3.

18

4. 3RR

18

5. tl
18
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6. 18

9.

"5WRT

if ÎT SRIT

18

18

18

Note :- Attempt five questions in all. Q. No. 1 is compulsory. Select

one question each from Units I, II, III and IV.

1. cret ifir

(§")

(»r)
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(5) McXddHdcX WHft'AjH'ddfdof WrieV

(F) gift U^t fidddl'dl
" _

(tl) PtSdU'd

(6T) Hfe HPtldl

(tf)

HHrfrToT §Wl" tra^ Urft

9x2=18

2. "Utft

fora1 3or w g^- ^ ? 18

3. nncrfeor ^Td »f^ w^ftiof ferrr f?^ oft" >>f?a" ^ ?
^ET f^ff ni'dfyol f^oTH ^t foTfe»r f^g fef ?njr SftH1' rF

t ? 18
I

gfe^-II
4. doffS'WrfloIrt »f^ HT-rfrToC tl^d^'tl f^H oft" »?3 "̂ 3" ? dolled

fHM'd €t ^'Mtlrt'dHoT HKHWH1 ort I 18

5. f%oF7T ^ UWfeor f H U ' d
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6. feoCH et»F oft I 18

7. rT^ t

f%»rfy»r orti
fJTCFH'

18

8. dofrtlof

FtF

do(rtlo(

f^cX'Htflrt

HUHZ 6f i

fofcJrfl sH^" Gfed

18

9. oft I

18
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